## VILLAGE OF CHATHAM, ILLINOIS

# ORDINANCE NO. 02 - 20

AN ORDINANCE APPROVING BIDS FOR ELECTRIC DISTRIBUTION SUPPLIES

ADOPTED BY THE PRESIDENT AND BOARD OF TRUSTEES OF THE VILLAGE OF CHATHAM, ILLINOIS THIS 14<sup>TH</sup> DAY OF MAY, 2002

Published in pamphlet form by the authority of the President and Board of Trustees of the Village of Chatham, Sangamon County, Illinois, this  $14^{\rm th}$  day of May, 2002.

### ORDINANCE NO. 02-

AN ORDINANCE APPROVING BIDS FOR ELECTRIC DISTRIBUTION SUPPLIES

WHEREAS, the Village of Chatham sought and obtained bids for electric distribution supplies for new construction; and

WHEREAS, the bids were opened and the lowest responsible bidder for each item was identified; and

WHEREAS, on April 29, 2002 a Committee of the Village Board met and reviewed the bids and is recommending the following bids:

SUPPLIER	ITEM DESCRIPTION	ITEM QTY	UNIT COST	TOTAL COST
Brownstown	Nordic Secondary Pedestal	40	\$ 75.000	\$3,000.00
	1/0 Elbow		\$ 22.830	\$3,424.50
	Secondary Bar Connector	120	\$ 10.250	\$1,230.00
	Transformer Tnk Grd Connector	100	\$ 2.870	\$ 287.00
		Vendor	Total	\$7,941.50
Elasco	1/0 Hendrix Primary	15,000'	\$ 1.055	\$15,825.00
	8' Ground Rod	50	\$ 5.190	\$ 259.50
	Trans Bar Connector	300	\$ 11.990	\$3,597.00
	CU Split Bolt	300	\$ 1.090	\$ 327.00
	•	Vendor	Total	\$20,008.50
Electrorep	50 KVA Padmount	50	\$1,005.000	\$50,250.00
•	25 KVA Padmount	50	\$ 869.000	
		Vendor	Total	\$93,700.00
Fletcher	#2 BARE STR. CU	300	\$ 1.200	\$ 360.00
		Vendor	Total	
Wesco	Monmouth (Sec Wire)	5,000'	\$ 1.105	\$ 360.00 \$ 5,525.00
	Claflin(Street Light Wire)	1.500'	\$ .215	\$ 322.50
	Ground Rod Clamp	50	\$ .670	\$ 33.50
	*	Vendor	•	\$ 5,881.00

NOW, THEREFORE, BE IT ORDAINED BY THE PRESIDENT AND BOARD OF TRUSTEES OF THE VILLAGE OF CHATHAM, ILLINOIS, AS FOLLOWS:

SECTION 1: That the following bids are hereby approved:

 	6127 001 00
	\$ 5,881.00
	\$ 360.00
	\$93,700.00
	\$20,008.50
	\$ 7,941.50
	TOTAL COST
<b></b>	Motal Dida

SECTION 2: This Ordinance is effective upon its passage and approval.

PASSED THIS 13th DAY OF MAY, 2002

Tom Gray, President Village of Chatham

ATTEST:

Pat Schad, Village Clerk

AYES:

NAYS:

ABSENT:

PASSED: 5-/4-02

APPROVED: 5-/4-01

# WRITE ORDINANCE

		X		X		X		5/4			
MATERIAL	QNT.	FLETCHER	DLV.DATE	ELECTROREP	DLV.DATE	WESCO	DLV.DATE	ELASCO	DLV.DATE	BROWNSTOWN	DLV.DATE
50 KVA PADMOUNT evaluated price alternate bid evaluated price alt.bid	50	\$1,029.000 \$1,842.000	11-13wk	\$1,005,000 \$1,630,020	4wk	\$883,000 \$2,295,080	7-9wk	\$834,250 \$2,210,340 \$859,000	11-13wk	no bid	OLV,DATE
25 KVA PADMOUNT evaluated price alternate bid evaluated price alt.bid	50	\$842.000 \$1,313.020	11-13wk (	\$869.000 \$1,337.340	4wk	\$747.000 \$1,633,360	7-9wk	\$710.250 \$1,738,060 \$684.500	11-13wk	no bid	
NORDIC SECONDARY PED	40	\$95.500	3-4wk			no bid		\$80.490	stk	\$75.000	-41-
1/0 HENDRIX PRIMARY	15000'	not approved cable				not approved cable		A \$1.055	stk		stk 
MONMOUTH (SEC. WIRE)	5000	N/A			<u>ጉ</u>	S1.105	∂ 1-2wk	\$1.200	(	\$1.090	stk
1/0 ELBOW	150	\$23.250	8wk		L-	S22.100	6-8wk		` 2wk	\$1.240	2-4wk
SEC.BAR. CONN.	120	\$15.050	2-3wk			512.370	3wk	\$22.900	6-8wk	\$22,830	(stk)
#2 BARE STR. CU	300	\$1.200	2wk					\$12,630	4-6wk (	\$10.250	stk
TRAN, SEC. BAR CONN.	300	-				\$1,500	sik	\$1.230	slk	\$1,400	sik
nssc3504i nssc3506i		\$18,130 \$22,530	3-4wk 1-2wk			\$16.990	3wk	\$12.750	3-4wk	\$14.220	8-10wk
8' GRD ROD	50	\$5.2G0	1-214K					\$11.990	stk	\$15.220	stk
CLAFLIN (STREET LT. WIRE	1500'	\$0,220			-4	\$5.200	stk <	\$5.190	stk	\$5,350	stk
TRANS. TNK. GRD. CONN.	100		stk		(	\$0.215	stk	\$0.230	stk	\$0.240	stk
CU SPLIT BOLT		not as per bid spec			ı	not as per bid spec		\$2.830	4-6wk	\$2.870	Stk
	300	\$1.350	stk			\$2.500	stk	\$1.090	stk	\$2.340	stk
GRD ROD CLAMP	50	\$0.700	stk		7	\$0.670	-ştk	\$0.685	stk	\$0.930	stk
Requesting	spli	T Bid ON	Transf	ormer5							

Company Name	No Load Losses	Load Losses	Bid Price	Total Price
25 KVA PADMOUNT				
ELASCO	71	630	\$710.25	\$1,738.06
ELASCO ALTERNATE				\$0.00
WESCO	108	450	\$747.00	\$1,633.36
ELECTROREP	75	202	\$869.00	\$1,337.34
FLETCHER	72	210	\$842.00	\$1,313.02

Company Name	No Load Losses	Load Losses	Bid Price	Total Price
50 KVA PADMOUNT				
ELASCO	171	692	\$834.25	\$2,210.34
ELASCO ALTERNATE				\$0.00
WESCO	167	727	\$883.00	\$2,295.08
ELECTROREP	117	386	\$1,005.00	\$1,830.02
FLETCHER	122	367	\$1,029.00	\$1,842.00

#### ORDINANCE CERTIFICATE

STATE (	ϽF	ILLINOIS	)	
			)	SS
COUNTY	OF	SANGAMON	(	

I, the undersigned, do hereby certify that I am the duly qualified and acting Village Clerk of the Village of Chatham, Sangamon County, Illinois.

I do further certify that the Ordinance attached hereto is a full, true, and exact copy of Ordinance No. 02-20 adopted by the President and Board of Trustees of said Village on the 14<sup>th</sup> day of May, 2002, said Ordinance being entitled:

# AN ORDINANCE APPROVING BIDS FOR ELECTRIC DISTRIBUTION SUPPLIES

I do further certify that prior to the making of this certificate, the said Ordinance was spread at length upon the permanent records of said Village, where it now appears and remains.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed the official seal of said Village this  $14^{\rm th}$  day of May 2002.

AGE OF CHATTA

CORPORATE

Pat Schad, Village Clerk